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QUESTION 1

See the Exhibit below. 

Which action is taken by a user to add a new Sub Action to the copy transition? 

A. Select Add Sub Action in the upper left of the screen. 

B. Select the box on the transition where the Copy text is located and click Add. 

C. Select the grey circle on the left of the Copy transition and click Add Sub Action. 

D. Select the box on the transition where the Copy text is located and click Add Sub Action. 

Correct Answer: A 

 

QUESTION 2

Which statement is true regarding a synchronous workflow that uses temporary data and is called using a call workflow
task in an asynchronous workflow? 

A. A synchronous workflow cannot be called from an asynchronous workflow. 

B. Since the synchronous workflow was called from an asynchronous workflow, the workflow will use permanent data. 

C. There is no user interacting with the data therefore there is no temporary data, and in this case the workflow will fail. 

D. A synchronous workflow cannot be called using a call workflow task; it can only be called from a state transition sub
action. 

Correct Answer: B 

 

QUESTION 3
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What is a valid form name based upon the Application Building for the IBM TRIRIGA Application Platform 3guide? 

A. cstform#1 

B. MylstFormcst 

C. cstMyFirstForm 

D. cstMy First Form 

Correct Answer: C 

 

QUESTION 4

Which statement is true in describing a dependent list? 

A. Dependent lists must be dynamic. 

B. A list is set to dependent after both lists are created. 

C. A dependent list must have more entries than the parent list. 

D. The parent of a dependent list must exist before a dependent list can be created. 

Correct Answer: D 

 

QUESTION 5

What must a user do to publish a business object (BO) following the creation of a module, BO, and fields for the BO? 

A. create a form 

B. create an association 

C. define a publish name 

D. set the control number 

Correct Answer: C 
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